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1. A function f(z ) is graphed below. If f f(z)dz = 17.8, what is j;) x) dx?
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2. Suppose f is a functlon for Whlch f2 z)dr =4 and f2 z)dz = 9 Find fs 7 flz

K G S?C/CQM S-FCxW\%*'S—?MM >CI 4/+§-H,<)JJ){
= f o) e = 5{

' . . |
Then f-.7j¢[x)d4( =7§'JC(K)0%( = —7{%&\% =~7.5 :@

o)
mk\®w o
3. Write the limit lim E sin (\/ ) — as a definite integral.
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4. Write / n(z) dz as a limit of Riemann sums (such as in problem 3 above
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1. A function f (:1:) is gra,phed below If f flz :c = 22.6, what is fo z) dz?
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2. Suppose f and g are functions for which fu dr = 3, fo 39{z) dz = 12 and f,“,
Find fo 3f(z) — g{z )da: S
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3. nll{ilo ;1—%(2;-7,% /n) Z as a definite integral. /Q(/w,
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- Write / sin(z) dz as a limit of Riemann sums (such as in problem 3 above).
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1. A function f(z) is graphed below. If f fl(z)dz = 17.8, what is fo z)dz?
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2. Suppose f is a function for which f2 f(:c)da: 4 and f2 z)dz = 9. Find fs 7f(z
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3. Write the limit lim Zsm (1/ Wk) T asa definite integral. 4 \
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4. Write / ¢” dz as a limit of Riemann sums (such as in problem 3 above). o
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1. A function f(z) is graphed below. If f f )dz = 22.6, what is fo ) dz?
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2. Suppose f and g are functions for which fo } dz = 3, fo 39(z) dz = 12, and fzﬁg(x) dr = —1.
Find fo 3f — g(z) dz.
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Write / V@ dz as a limit of Riemann sums (such as in problem 3 above).
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